BINRIRE Mo EaE O) eyl

1. 28R CLiy=122 Co:y=—2+4r— 4D 2 OOMHBMOMHIZHT 2 EHED
FHfERERD X

( FREAH ) 3’: ox &Y 4= 20+

Ci D (L, 12) 2B 2RO HRERNE y=2x —12 - O ¢

THECy EEMLT 22420t —2x—2+44=0 =20t

CNAEME S S0T, HHIAE D ¥ LT AR B
% ==+ —4=20t-2)=0 ..t=0,2

FoTtO»5 y=0,y=4xr—14

(U (D 2 5) g -axtd &) Yo (o (eo)-s et
Co FDE (s, —s2+4s — 4) lzB 1T 2EH0 HERIZ
y=(=2s+4Dx+s>—4 - @) Cy

D, @ »FUEI RS L X o @.@ aidE e SRIREC

2t = —25 + 4
{—t2232—4 (s, =(0,2), (2,0)

£oT®, @75 y=0,y=4x—14

2. R OBRIZHET AHBOERBEORAMEE kD XK.

(RREH) e T ER R3]

Mg E%22r 352 0<r<1 T o ¥453
JETH O 1 — 2 @
Ao ERE V() L35

V() =1 - (M >2 - 2x *%@@*@’3)

=7z(1—x%)2x x NG
=2n(—x+ 1) = X0 Zﬁf\a
V(z) = 22(—322 + 1) 3
BERERIZRD X ST 5. o\ T
1 g7 - 3%
0 — 1
x (0) 73 (D
V' (x) + 0 | —
V(x) || (0| 7| &K |\ | (0)

FoT, Bkl v(%)::: L.











































































3. B f(x)=23+222 —4x 1z LT, IROMWIZEZ K.
(1) Wiy =f(x) Lof @, @) icBiF280ARERZ KD L.
(2) £, k) oty = F(2) 18 Z N TEBEROAREE KD k.

( BR&H) ) g=—}‘(x)
(1) f(x)=3x2+4x—14
HRO BT y= G+ 4 —D(@—t)+5+22 — 4 (1)

EoT y= @2+ 4t —4)x — 263 — 212
(2) (1) oEf?S (0, k) 2i@2LT 5L
h= —93 — 92 ...... @
1 KOBAFIZH U 1 DDERBPHINT 5006,
HRRDOARUT (O DFEBR t DIIEIZZE L,
g(t) = —2t3 — 212

(0.8

— Q‘%ﬁim%):( ’\€“Tw>

rpll
g (t) = —6t2— 4t = —2t(3t + 2) "
g =0r32Y t:—%,o
N R
L] [ \
g -1 0o |+]0]|~— :30 -
3 y==r - —X
9O N —9r | /0] N :
XoT, y=9gt)  y=kOLELEDEKZE X T
1 <k<—i,0<k)
o 3 y= 9
B O AR < 2 <k=—ﬁ, 0)

3 <—%<k<0>





















